FACTORING

Method 1:  Factor out a common factor.


e.g.  15x3 – 5x2 + 10x

Method 2:  Difference of Squares

e.g. 100x2 – 36y2
Method 3:  Simple Trinomial


e.g.  x2 – 6x -16

Method 4:  Factoring by Grouping


e.g. 15x3 – 10x2 + 9x - 6
Method 5:  Non-Simple Trinomials – with a coefficient other than 1 for x2.


e.g.  10x2 – 3x  - 4

STEP 1:


Multiply leading coefficient by constant term  → 10 · -4 = -40

STEP 2: 
Find two numbers that multiply to the number in step 1 and add to the middle coefficient.




MULTIPLY to -40




ADD to -3



The two numbers are -8 and +5

STEP 3:
Rewrite the trinomial using 4 terms instead





10x2 – 3x  - 4 = 10x2 + 5x – 8x  - 4   

(notice that these expressions are equal – just written differently)

STEP 4:  
Use Method 4 – Factoring by Grouping to factor the expression with 4 terms





   (10x2 + 5x)  ( – 8x  - 4)





=   5x(2x + 1)  -4  (2x+1)





=  (2x+1) (5x-4)

STEP 5:


Check by expanding!


Another example:   Factor [image: image1.png]622 — 19z + 10




STEP 1: 

Multiply 6 and 10 = 60

STEP 2:  

Find two numbers that multiply to 60 and add to -19.  





They are -4 and -15

STEP 3:

Rewrite the trinomial so it has 4 terms.

[image: image2.png]622 — 19z + 10 622 — 4z — 15z + 10

(622 — 4x) — (152 — 10)

22(3z — 2) — 5(3x — 2)
(3z — 2)(2z - 5)




To try: 

 [image: image3.png]Factor 222 + 13z + 15.




[image: image4.png]Factor 622 — 11z — 10.




[image: image5.png]Factor 12y° —Ty+1




Check solutions by expanding or at http://lpc1.clpccd.cc.ca.us/lpc/math/math20/factoring.pdf
Homework:  pg 102 #1-4, #9;  pg. 106:  4 examples; pg 107 #7 and 8

